£21[H 2013 hb=7V/ v

20134 (FHL25%) 2A17H

@42.195% 0 - X% — FOKS00% - SUBLITE
BET0% - HEFEOES G
B~ 7 Y 5
BF DI

H 53 B S »
uEsl R R & & EEE 2:23:58
2 |fF B OE E AR 2:29:02
3 M Z X FES 2:29:39
4 |5HBsE K & AN 2:30:21
bl B F E REARIE 2:31:08
6 | AEmE = 1 IE™ 2:36:50
TFDER
wmliE4 RN F F AR 3:03:35
2 |NFEA = = AT 3:19:55
3|k E ¥ F TR 3:20:18
4 |HHTHE B F HE™ 3:22:24
5|2 T @ S KB AT 3:38:13
6|58 K B = ENE 3:41:03
mRY 7 Y 8
BF DR

e B 5 »
wEs|E B i) BHE 2:26:03
2 |7 B & fF AER 2:29:07
3|E % B X Naski: sl 2:38:38
4\A & # ESEERS) 2:44:30
5tk A B — 3% %M 2:46:49
6 |F B £ 8 KB AT 2:47:28
TFDER
1B R =— - Ty ATV USA 3:05:12
21Kk K £ B BEEH 3:14:56
3148 W R = FER 3:15:58
4 |fhHE BOVA SERT 3:21:15
5[l H W =F BEEEM 3:22:57
6 1B B =2 = JbEE 3:24:55

—fi%10kmA—FL —X

20135 (F¥m25%) 2A17H

- EEEO RS
BFDER
H 5 BE o ®

wEnEESH R+ BEEE™ 0:32:26
2 & B & BEHEN 0:32:50
3|5 55 5%%m 0:32:55
4F # 8 X Nazi Al 0:33:19
b |lEk&E R — 5%%m 0:33:39
6 |ff M Tt EHZEM 0:33:53

LTFDE

wEn R E A B 0:38:31
2 |1 H B = SEE 0:42:08
31 ¥ EHBTF BEHEN 0:42:31
4 |E W E=MF ERmsl 0:43:07
5 K W B i ZEM 0:44:23
6|/ M &F &F FEE 0:45:17




SB10kmA—FL—X 20135 (TR25%) 2H17H

BF DB

H B ith BE 5 ®

E(El & OE OBD FHAAR 0:33:32
2 1B ® (e S AITE= % 0:33:38
3|18 M K 2 EFHAE SR 0:34:00
4 |7 F fEKER ISR 0:34:02
5 13 B K A0 Y ER 0:34:04
6 it & I B BIRER 0:34:07

LFDE

wEsE2E B OF] ANE LR 0:40:17
2 |35 K HEE ZLESR 0:41:07
3| L B OE HEER 0:41:52
41 NIl B OE NE LK 0:42:14
5 | # IBIKE ISR 0:44:00
6tk & kK ™ BTSSR 0:44:12




